Progress on the ILC-BDS
(250GeV CoM)



v.450LD0 205D1B —new optics

Used QDO, Qf1, QD2A,Qf3, QD6,Qf5,QD4,
QD2B + matching quads to rematch to new
Twiss

Used QDO, Qf1, QD2A,Qf3, QD6,Qf5,QD4, QD2B +
sextupoles
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v.450LD0_2055D1B-new optics
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Beam size up to maximum order considered
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v.351LD0 135D1B (Half-quads)

 Used QDO, Qf1, QD2A,Qf3, B, =0.013;
QD6,Qf5,0D4, QD2B + B, =0.0004100; o, = 4e-05;
QF7,QD8,QD10, QF9+matching a, =-1.5e-09; D, =O(e-5);
qguads
== Corresponding
BEFBes e cloe = HD o2« oo [on ] e civps:
1
O , il | Ox™ =7.30e-07
y y mr 1
250 ?)L , B:Dé ‘CO‘LLUF&&D{;(‘I; 05.83%4/&3/12 12.28.38 () 50 N Gy =7.69e-09
g 7 Bxf/z B‘_//;' D. A [ £
& 225 - R | - 0.15 S 2
S 2op, ] ‘, , Oy 2=7.67e-07
— ] - 0.10
:E 175. L \O-y =7.78e-09
o 1 - 0.05
Sa 150. ] | | 3
125. ‘\ 0.0 Ox™ =7.86e-0
100. - - 0.05 ‘O-y3 =7.88e-09 .
75. VAl
] [ | -0.10 4
50. - i Ox " =8.74e-07
25, I -0.15 4
| ‘ - Oy =9.19e-09
00 T T T T . T T T -0.20
0.0 400. 800. 1200. 1600. e
s Ox” =8.58e-07
5
.| Oy~ =9.09.e-09




v.351LD0 135D1B-new optics

( Half Quads)

1.25E+00
1.20E+00 .
1.15E+00 sy/sy0
1.10E+00 9= 5x/sx0
>
=
o
@) 1.05E+00 wefe=5X/sx0_dp=0
~
>
bx 1.00E+00 =>¢=sy/sy0_dp=0
9-50E_01 T T T 1
0 2 4 6 8

Beam size up to maximum order considered
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Plans

* Finish 250 Gev CoM lattice
v.351LD0_304D1B with half quads at FF

 Repeat the same exercise for 450D0 205D1B



